

Lemmas (i) Riemann-Roch.  $h^0(X, V) - h^1(X, V) = \deg(V) - n(g-1)$   $u := -\deg(V)$

(ii) (Vanishing thm)  $\deg(V) \geq (2g-1) \cdot n$ ,  $V$ : s-stable  $\Rightarrow h^1(X, V) = 0$

$\deg(\det V)$  line bundle. L. as: rational section.  
 $\text{div}(s) = \sum_p \text{ord}_p(s) \cdot p$   
 $\deg(s) := \deg(\text{div}(s))$   
 well-defined.  
 $\text{div}(s) \sim \text{div}(s') \Leftrightarrow s' = f \cdot s$   
 $\text{div}(s') = \text{div}(s) + \text{div}(f)$   
 $\deg(s') = \deg(s)$

$\therefore V$ : s-stable  $\Rightarrow K_X \otimes V^*$ : semi-stable  
 $\deg V \geq (2g-1)n \Rightarrow \deg(K_X \otimes V^*) = \deg K_X - \deg(V) + n \deg V^*$

$\neq (2g-1) \cdot n + 1 \cdot [-(2g-1) \cdot n] \leq 0$

(b)  $H^0(X, K_X \otimes V^*) \neq 0 \Rightarrow \exists \mathcal{O}_X \xrightarrow{s} K_X \otimes V^*$   
 $H^1(X, N)^{\neq}$   $\mu(\mathcal{O}_X) = 0$   $\mu(K_X \otimes V^*) = \frac{\deg}{\text{rank}} \Rightarrow \frac{< 0}{n} < 0$

Contradiction

$\beta_{X,n}^{(s)} := \sum_{m=0}^{2g-2} \sum_{[V] \in M_{X,n}(mn)} \frac{h^0(X, V)}{\# \text{Aut}(V)} - \sum_{m=0}^{\infty} \sum_{V \in M_{X,n}(mn)} \frac{1}{\# \text{Aut}(V)} \cdot h^{2g-1}(X, V)$   
 $+ \sum_{m \geq 2g-1} \sum_{V \in M_{X,n}(mn)} \frac{h^0(X, V)}{\# \text{Aut}(V)} = \text{III}(s)$

+II(s)  $\sum_{m=0}^{\infty} \sum_{V \in M_{X,n}(mn)} \frac{1}{\# \text{Aut}(V)} \cdot t^{mn - n(g-1)}$

$M_{X,n}(\mathbb{Q}) \xrightarrow{\sim} M_{X,n}(mn)$

$V \mapsto A^{\otimes m} \otimes V$

$\text{Aut}(M) \cong \text{Aut}(A^{\otimes m} \otimes V)$

$\Leftarrow$  independent of  $\mathbb{Q}_m$

Action line bundle

$\deg(A) = 1$

$A: \mathbb{F}_q$ -rational

Always exist!!!

Def:  $\beta_{X,n}^{(0)} = \sum_{(V) \in M_{X,n}^{(0)}} \frac{1}{\# \text{Aut}(V)}$

$= \beta_{X,n}^{(0)} \sum_{m=0}^{\infty} t^{(m-g+1)n}$   
 $= \beta_{X,n}^{(0)} \frac{T^{(1-g)n}}{1-T}$

III(s)  $= \beta_{X,n}^{(0)} \sum_{m \geq 2g-1} \frac{(qt)^{mn - n(g-1)}}{(qt)^{m-g}}$

$= \beta_{X,n}^{(0)} \cdot \frac{T \cdot (QT)^g}{1-QT} = \beta_{X,n}^{(0)} \cdot \frac{(QT)^g}{1-QT}$

$\frac{(qt)^{ng}}{1-qt} = \frac{qt^{ng}}{qt-1} = \frac{qt^g}{qt-1}$

$\Rightarrow \text{III}(s) = \text{II}(s)$